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BACHELOR'S DEGREE PROGRAMME (BDP) 
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ELECTIVE COURSE : ECONOMICS 

BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 
ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all the sections as per the instructions 
given in each section. 

SECTION A 

(Long-Answer Questions) 

Answer any two questions from this section, in about 

600 words each. 	 2x20=40 

1. What are the causes of low productivity in 
Indian agriculture ? Explain in brief, the 
measures to improve it. 

2. What is meant by `Sectoral Composition of 
Savings' ? How does a shift in favour of 
corporates affect economic development of the 
country ? 
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3. Define Liberalisation, Privatisation and 

Globalisation (LPG). How did the economic 

reforms help to overcome the economic crisis of 
1991? 

. What are the objectives of fiscal policy in India ? 

Give the outline of a suitable fiscal policy to 

solve the problem of inflation. 
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SECTION B 

(Medium-Answer Questions) 

Answer any four questions from this section, in about 
300 words each. 	 4x10=40 

5. Enumerate the agricultural subsidies. Explain 
the rationale behind them. 

6. What are Mutual Funds ? What are their 
advantages and disadvantages ? 

7. Discuss 'National Population Policy — 2000'. How 
can it affect population growth in India in 
future ? 

8. Write a short note on the 'Functions of Central 
Statistical Organisation (CSO)'. 

9. Illustrate the major deficiencies in the Indian 
Capital Market. 

10. Distinguish between 'Economic growth' and 
`Economic development' and point out the 
challenges to sustain development in the long 
run. 

11. Distinguish between 'revenue deficit' and 
`budget deficit'. Explain the broad components of 
the 'Union Budget'. 
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SECTION C 

(Short-Answer Questions) 

Answer both the questions from this section as 
directed. 

12. Distinguish between any two of the 
following : 	 2x5=10 

(a) Balance of Current A/c and Balance of 
Payments 

(b) Budget deficit and Fiscal deficit 

(c) Money market and Capital market 

13. Write short notes on any two of the 
following : 	 2x5=10 

(a) Full convertibility of Indian Rupee 

(b) Main factors attracting foreign investment 
flows to India 

(c) Arguments in favour of 'Protection' 
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